your experiment investigates the influences of year in school and gender on a 5 point english composition quiz. 

 

                                                                                    Gender

 

                                                                        Male                            Female

 

                                    freshman                       n = 16                          n = 16

                                                                        ∑X = 54                      ∑X = 43

                                                                        ∑X 2=
190

∑X 2= 202

                                    sophomore                   n = 16                          n = 16

                                                                        ∑X = 44                      ∑X = 41

                                                                        ∑X 2=
195

∑X 2= 153

Year in school

 

                                    junior                            n = 16                          n = 16

                                                                        ∑X = 50                      ∑X = 46

                                                                        ∑X 2=
172

∑X 2= 165  







                 

                                    senior                           n = 16                          n = 16

                                                                        ∑X = 65                      ∑X = 53

                                                                        ∑X 2=
187

∑X 2= 128

  

Source                    SS                           df                   s2                     F          

Row


17.81


3

5.94

  5.08
Column

7.03


1

7.03

  6.01
RxC


2.03


3

.68

  .57
Within

140

       120

1.17

Total

 

 

Do Gender and Year in School create differences in comp scores?  Each probably does.
Does the interaction?  Probably not.
 

Do post hoc testing (if appropriate) for your main effects only. 
Qs = .12, 1.8, 1.9, 3.49, 3.6, 5.4. Cut off  = 3.68.  Only Sophomores and Seniors probably different.
